Du meéetre au millimétre B
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2- Compléte les égalités.

3- Compare avec <, > ou =.
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Du meéetre au millimétre B

CM1

3m

20dm

40 cm

5dmet6cm

125 mm

892 cm

2- Compléte les égalités.

3m=30dm

7dmet9cm=79 cm

2m=200cm

120cm =12 dm

17dm =170 cm

8 dm =80 cm

50cm =5dm

6m=60dm

2dmet8cm=28cm

10dmet5cm =105cm

Imet9dm=190 cm

6met7dm=670cm

50dm et 70 cm =57 dm

180 mm = 18 cm

50 mm=5cm

I m=1000mm

3- Compare avec <, > ou =.
5m | > 4000 mm

2 m et 400 mm 4 200 mm

6 000 mm 8m

8 500 mm 7 m et 900 mm
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